$$\int_{x}^{\infty} dx = \cos x \, dx$$

$$\int_{0}^{\infty} e^{x} \sin x \, dx = e^{x} \sin x - \int_{0}^{\infty} e^{x} \cos x \, dx$$

$$\begin{cases} u = \cos x \\ dv = e^{x} dx \end{cases} \rightarrow \begin{cases} du = -\sin x dx \\ v = e^{x} dx \end{cases}$$

$$\begin{cases} e^{x} \sin x \, dx = e^{x} \sin x - \left(e^{x} \cos x - \left(e^{x} \cdot (-\sin x) dx\right)\right) \\ e^{x} \sin x \, dx = e^{x} \sin x - \left(e^{x} \cdot (-\sin x) dx\right) \end{cases}$$

$$\begin{cases} e^{x} \sin x dx = e^{x} \sin x - e^{x} \cos x \left(-\int e^{x} \sin x dx \right) \end{cases}$$

$$2\int_{\mathbb{R}^{N}} \sin x \, dx = e^{N} \sin x - e^{N} \cos x$$

$$\int e^{x} \sin x \, dx = \frac{1}{2} e^{x} \sin x - \frac{1}{2} e^{x} \cos x + C$$

2nd way: Tabular method: (exsuxdx

 $\begin{array}{ll}
D & \bot \\
e^{X} & \int_{e^{X} \text{mix} dx} = e^{X} \text{mix} - e^{X} \text{conx} + \int_{e^{X}} (-\text{sinx}) \\
e^{X} & \det \\
= e^{X} \text{sinx} - e^{X} \text{conx} - \int_{e^{X} \text{sinx} dx} \\
-\text{sinx} + e^{X} & \Rightarrow 2 \left(e^{X} \text{sinx} dx - e^{X} \text{conx} \right) \\
& \Rightarrow 2 \left(e^{X} \text{sinx} dx - e^{X} \text{conx} \right) \\
\end{array}$ -> 2 (exmxdx = exmx-exconx

 $\int e^{x} \sin x dx = \frac{1}{2} e^{x} \sin x - \frac{1}{2} e^{x} \cos x + C$

Ex. Find the antiderivative

$$\left(2\right)\int x \cdot tan^{2}(x) dx$$

(1)
$$\int (\ln x)^2 dx$$

Let $\int (\ln x)^2 dx$
Then $\int (\ln x)^2 dx = x(\ln x)^2 - 2 \int x \cdot \frac{\ln x}{x} dx$
 $\int (\ln x)^2 dx = x(\ln x)^2 - 2 \int x \cdot \frac{\ln x}{x} dx$ we did this
$$= x(\ln x)^2 - 2(\ln x dx)$$

$$= x(\ln x)^2 - 2(x \ln x - x) + C$$

*
$$((\ln x)^2 dx$$

$$\begin{cases} u = \ln x \\ dv = \ln x dx \end{cases}$$

$$\int_{V=x \ln x - x}^{du} du = \frac{1}{x} dx$$

$$\int (\ln x)^2 dx = \ln x \cdot (x \ln x - x) - \int (\ln x - 1) dx$$

$$= l_{n \times} (x l_{n \times - \times}) - (x l_{n \times - \times}) + x + ($$

$$= l_{n \times} (x l_{n \times - \times}) - (x l_{n \times - \times}) + x + ($$

$$= l_{n \times} (x l_{n \times - \times}) - (x l_{n \times - \times}) + x + ($$

let
$$\begin{cases} u = x \\ dv = tan^2(x) dx \end{cases}$$

Then
$$\begin{cases}
du = dx \\
v = \int tan^{2}(x) dx
\end{cases}$$

$$v = \int (sec^{2}(x) - 1) dx$$

$$v = tanx - x$$

Tuesday, September 18, 2018

$$\int_{x} \tan^{2}(x) dx = x \cdot (\tan x - x) - \left[(\tan x - x) dx \right]$$

$$= x \left(\tan x - x \right) - \left[-\ln|\cos x| - \frac{x^{2}}{2} \right] + C$$

$$= x \left(\tan x - x \right) + \ln|\cos x| + \frac{x^{2}}{2} + C$$

* Integration by parts for Definite Integrals

budy =
$$uy^b - y^b$$

| $u = uy^b - y^b$

| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
| $u = uy^b - y^b$
|

E.g.
$$\int ancton(x) dx$$

$$\begin{cases} u = \arctan(x) \\ dv = dx \end{cases} \begin{cases} du = \frac{1}{1+x^2} dx \\ v = x \end{cases}$$

Tuesday, September 18, 2018 9:39 AM

$$\int \operatorname{anctan}(x) dx = x \operatorname{anctan}(x) \left| \frac{1}{0} - \frac{1}{2} \sqrt{\frac{2x}{1 + x^2}} \right| dx$$

$$du = 2x dx$$

$$= \arctan(1) - 0 - \frac{1}{2} \int_{1}^{2} \frac{du}{u}$$

$$= \frac{\pi}{4} - \frac{1}{2} \cdot \ln|u|^{2}$$

$$= \frac{\pi}{4} - \frac{1}{2} \left(l_n(2) - l_n(1) \right)$$

$$= \frac{\pi}{4} - \frac{\ln(2)}{2}$$

Tuesday, September 18, 2018

Find
$$\begin{cases} \ln x & dx = \begin{cases} -\frac{1}{2} \\ \sqrt{x} & dx \end{cases}$$
Log further

Let
$$\begin{cases} u = \ln x \\ dv = x^{-\frac{1}{2}} dx \end{cases}$$

Let
$$\begin{cases} u = \ln x \\ dv = x^{-\frac{1}{2}} dx \end{cases}$$
 Then
$$\begin{cases} du = \frac{1}{x} dx \\ v = 2x^{\frac{1}{2}} \end{cases}$$

$$\int_{4}^{9} \frac{\ln x}{\sqrt{x}} dx = 2 \times \int_{4}^{\frac{1}{2}} \ln x \left| \frac{9}{4} - 2 \right| \times \int_{4}^{\frac{1}{2}} \frac{1}{x} dx$$

$$= 6 \ln(9) - 4 \ln(4) - 2 \int_{4}^{-\frac{1}{2}} dx$$

$$= 6 \ln(9) - 4 \ln(4) - 2 \cdot 2 \times \frac{1}{2} | 9$$

$$= 12ln(3) - 8ln(2) - 4$$